BBS vs PRST

Matrix: bl, Length thr: It2, Matrix: bl, Length thr: It2, Matrix: bl, Length thr: It2, Matrix: bl, Length thr: It2,

True positive rate

True positive rate

True positive rate

True positive rate

Weighted: pairW, Intensity thr: itl Weighted: pairW, Intensity thr: it2 Weighted: unW, Intensity thr: itl Weighted: unW, Intensity thr: it2
1.0 A . . .
0.8 A % cut gaps AUC 7 % cut gaps AUC 7 % cut gaps AUC 7 % cut gaps AUC
70% nn ts0.5 cms 88.7% 70% nn ts0.5 cms 87.5% 70% nn ts0.5 cms 88.4% 70% nn ts0.5 cms 87.3%
70% nn ts0.5 norm 92.7% 70% nn ts0.5 norm 90.0% 70% nn ts0.5 norm 92.5% 70% nn ts0.5 norm 90.0%
70% nn ts1.0 cms 85.9% 70% nn ts1.0 cms 84.0% 70% nn ts1.0 cms 84.8% 70% nn ts1.0 cms 83.7%
70% nn ts1.0 norm 89.5% 8 70% nn ts1.0 norm 89.3% _8 70% nn ts1.0 norm 88.8% 8 70% nn ts1.0 norm 89.3%
0 6 | 70% np ts0.5 cms 89.0% E ] 70% np ts0.5 cms 87.6% E | 70% np ts0.5 cms 88.8% E ] 70% np ts0.5 cms 87.3%
. 70% np ts0.5 norm 90.9% 70% np ts0.5 norm 90.0% 70% np ts0.5 norm 90.8% 70% np ts0.5 norm 90.0%
70% np ts1.0 cms 87.5% q>) 70% np ts1.0 cms 84.1% g 70% np ts1.0 cms 86.9% G>) 70% np ts1.0 cms 83.9%
70% np ts1.0 norm 87.9% ) 70% np ts1.0 norm 89.2% ) 70% np ts1.0 norm 88.2% ) 70% np ts1.0 norm 89.3%
80% nn ts0.5 cms 88.8% ) 80% nn ts0.5 cms 87.1% ‘© 80% nn ts0.5 cms 88.2% ) 80% nn ts0.5 cms 87.1%
80% nn ts0.5 norm 92.7% S 80% nn ts0.5 norm 89.8% S 80% nn ts0.5 norm 92.1% S 80% nn ts0.5 norm 90.2%
0 4 80% nn ts1.0 cms 85.8% o 80% nn ts1.0 cms 84.1% o 80% nn ts1.0 cms 85.2% o 80% nn ts1.0 cms 83.6%
. 80% nn ts1.0 norm 89.2% > 80% nn ts1.0 norm 89.1% S 80% nn ts1.0 norm 88.8% > 80% nn ts1.0 norm 89.3%
80% np ts0.5 cms 89.7% = 80% np ts0.5 cms 87.2% = 80% np ts0.5 cms 88.7% = 80% np ts0.5 cms 87.4%
80% np ts0.5 norm 91.3% 80% np ts0.5 norm 90.0% 80% np ts0.5 norm 90.9% 80% np ts0.5 norm 90.1%
80% np ts1.0 cms 87.6% 80% np ts1.0 cms 84.5% 80% np ts1.0 cms 86.9% 80% np ts1.0 cms 84.0%
80% np ts1.0 norm 89.0% 80% np ts1.0 norm 89.3% 80% np ts1.0 norm 88.5% 80% np ts1.0 norm 89.3%
—eo— 90% nn ts0.5 cms 89.3% —eo— 90% nn ts0.5 cms 87.7% —eo— 90% nn ts0.5 cms 88.7% —eo— 90% nn ts0.5 cms 87.1%
02 7 —e— 90% nn ts0.5 norm 92.6% —eo— 90% nn ts0.5 norm 89.9% —e— 90% nn ts0.5 norm 92.4% —e— 90% nn ts0.5 norm 90.2%
—¥— 90% nn ts1.0 cms 85.8% —¥— 90% nn ts1.0 cms 83.8% —¥— 90% nn ts1.0 cms 85.1% —¥— 90% nn ts1.0 cms 84.1%
—r— 90% nn ts1.0 norm 89.4% —r— 90% nn ts1.0 norm 89.3% —r— 90% nn ts1.0 norm 89.7% —r— 90% nn ts1.0 norm 89.6%
<@+ 90% np ts0.5 cms 89.0% -+@+ 90% np ts0.5 cms 87.9% <@+ 90% np ts0.5 cms 89.3% -+@+ 90% np ts0.5 cms 87.5%
-:@:: 90% np ts0.5 norm 91.4% -:@: 90% np ts0.5 norm 90.0% -:@:: 90% np ts0.5 norm 91.1% -:@:: 90% np ts0.5 norm 90.2%
=sy:+ 90% np ts1.0 cms 87.3% =:y:+ 90% np ts1.0 cms 84.2% =sy:+ 90% np ts1.0 cms 86.8% =:y:+ 90% np ts1.0 cms 84.2%
00 7 =+ 90% np ts1.0 norm 88.6% ==y+ 90% np ts1.0 norm 89.4% =*y+ 90% np ts1.0 norm 88.5% =:y+ 90% np ts1.0 norm 89.6%
T T T T T T T T T T T T T T T T T T T T T T
False positive rate False positive rate False positive rate False positive rate
Matrix: bl, Length thr: It3, Matrix: bl, Length thr: It3, Matrix: bl, Length thr: It3, Matrix: bl, Length thr: It3,
Weighted: pairW, Intensity thr: itl Weighted: pairW, Intensity thr: it2 Weighted: unW, Intensity thr: itl Weighted: unW, Intensity thr: it2
1.0 A
0.8 A % cut gaps AUC % cut gaps AUC % cut gaps AUC % cut gaps AUC
70% nn ts0.5 cms 90.3% 70% nn ts0.5 cms 89.7% 70% nn ts0.5 cms 89.7% 70% nn ts0.5 cms 88.9%
70% nn ts0.5 norm 91.8% 70% nn ts0.5 norm 90.2% 70% nn ts0.5 norm 92.0% 70% nn ts0.5 norm 90.2%
70% nn ts1.0 cms 87.4% 70% nn ts1.0 cms 84.9% 70% nn ts1.0 cms 86.4% 70% nn ts1.0 cms 85.0%
70% nn ts1.0 norm 88.6% 8 70% nn ts1.0 norm 89.9% B 70% nn ts1.0 norm 87.9% 3 70% nn ts1.0 norm 89.7%
70% np ts0.5 cms 88.3% © 70% np ts0.5 cms 89.7% © 70% np ts0.5 cms 89.2% © 70% np ts0.5 cms 89.2%
0.6 70% np ts0.5 norm 91.0% = 70% np ts0.5 norm 89.9% = 70% np ts0.5 norm 91.2% = 70% np ts0.5 norm 89.9%
70% np ts1.0 cms 87.7% q>') 70% np ts1.0 cms 85.0% g 70% np ts1.0 cms 86.9% (]>) 70% np ts1.0 cms 85.0%
70% np ts1.0 norm 88.3% ] 70% np ts1.0 norm 89.6% = 70% np ts1.0 norm 88.5% ] 70% np ts1.0 norm 89.8%
80% nn ts0.5 cms 89.0% ) 80% nn ts0.5 cms 89.0% ‘« 80% nn ts0.5 cms 89.0% ) 80% nn ts0.5 cms 88.7%
80% nn ts0.5 norm 91.3% S 80% nn ts0.5 norm 90.0% S 80% nn ts0.5 norm 90.9% S 80% nn ts0.5 norm 90.3%
0 4 80% nn ts1.0 cms 87.2% o 80% nn ts1.0 cms 84.7% o 80% nn ts1.0 cms 86.4% o 80% nn ts1.0 cms 85.0%
. 80% nn ts1.0 norm 88.1% >S5 80% nn ts1.0 norm 89.7% -] 80% nn ts1.0 norm 88.2% >S5 80% nn ts1.0 norm 89.5%
80% np ts0.5 cms 88.0% ‘,_‘ 80% np ts0.5 cms 89.1% |‘: 80% np ts0.5 cms 87.7% ‘,_‘ 80% np ts0.5 cms 88.8%
80% np ts0.5 norm 91.0% 80% np ts0.5 norm 89.9% 80% np ts0.5 norm 90.8% 80% np ts0.5 norm 90.0%
80% np ts1.0 cms 87.6% 80% np ts1.0 cms 85.0% 80% np ts1.0 cms 86.6% 80% np ts1.0 cms 85.2%
80% np ts1.0 norm 87.7% 80% np ts1.0 norm 89.6% 80% np ts1.0 norm 88.0% 80% np ts1.0 norm 89.4%
—o— 90% nn ts0.5 cms 89.2% —o— 90% nn ts0.5 cms 86.7% —o— 90% nn ts0.5 cms 89.3% —o— 90% nn ts0.5 cms 86.9%
02 7 —e— 90% nn ts0.5 norm 91.6% —eo— 90% nn ts0.5 norm 90.2% —e— 90% nn ts0.5 norm 91.4% —e— 90% nn ts0.5 norm 89.8%
—r— 90% nn ts1.0 cms 86.7% —— 90% nn ts1.0 cms 85.3% —r— 90% nn ts1.0 cms 86.5% —r— 90% nn ts1.0 cms 85.4%
—¥— 90% nn ts1.0 norm 88.6% —¥— 90% nn ts1.0 norm 89.2% —¥— 90% nn ts1.0 norm 88.5% —¥— 90% nn ts1.0 norm 89.1%
<@+ 90% np ts0.5 cms 87.8% -+@+ 90% np ts0.5 cms 87.5% <@+ 90% np ts0.5 cms 87.8% -+@+ 90% np ts0.5 cms 87.0%
--@-+ 90% np ts0.5 norm 91.2% -@- 90% np ts0.5 norm 90.2% + 90% np ts0.5 norm 91.0% --@-+ 90% np ts0.5 norm 89.7%
=sy:+ 90% np ts1.0 cms 87.4% ==y:+ 90% np ts1.0 cms 85.6% =sy+ 90% np ts1.0 cms 86.6% =:y:+ 90% np ts1.0 cms 85.6%
00 7 =y-+ 90% np ts1.0 norm 88.0% =:y-+ 90% np ts1.0 norm 89.0% =y-+ 90% np ts1.0 norm 87.5% =:y-+ 90% np ts1.0 norm 89.0%
T T T T T T T T T T T T T T
False positive rate False positive rate False positive rate False positive rate
Matrix: Ig, Length thr: It2, Matrix: Ig, Length thr: It2, Matrix: Ig, Length thr: It2, Matrix: Ig, Length thr: It2,
Weighted: pairW, Intensity thr: itl Weighted: pairW, Intensity thr: it2 Weighted: unW, Intensity thr: itl Weighted: unW, Intensity thr: it2
1.0 - 1 - 1
0.8 1 % cut gaps AUC % cut gaps AUC % cut gaps AUC % cut gaps AUC
70% nn ts0.5 cms 89.3% 70% nn ts0.5 cms 88.2% 70% nn ts0.5 cms 87.8% 70% nn ts0.5 cms 88.1%
70% nn ts0.5 norm 91.9% 70% nn ts0.5 norm 91.0% 70% nn ts0.5 norm 91.9% 70% nn ts0.5 norm 91.3%
70% nn ts1.0 cms 85.4% 70% nn ts1.0 cms 84.4% 70% nn ts1.0 cms 86.2% 70% nn ts1.0 cms 84.1%
70% nn ts1.0 norm 88.5% _8 70% nn ts1.0 norm 90.8% _8 70% nn ts1.0 norm 88.2% 8 70% nn ts1.0 norm 91.2%
70% np ts0.5 cms 89.7% © 70% np ts0.5 cms 89.2% © 70% np ts0.5 cms 89.0% © 70% np ts0.5 cms 88.8%
0.6 70% np ts0.5 norm 92.0% = 70% np ts0.5 norm 91.7% = 70% np ts0.5 norm 91.5% = 70% np ts0.5 norm 91.8%
70% np ts1.0 cms 89.4% q>) 70% np ts1.0 cms 86.7% g 70% np ts1.0 cms 88.8% q>) 70% np ts1.0 cms 86.2%
70% np ts1.0 norm 88.8% ) 70% np ts1.0 norm 91.3% ) 70% np ts1.0 norm 88.7% ) 70% np ts1.0 norm 91.4%
80% nn ts0.5 cms 88.3% ) 80% nn ts0.5 cms 88.4% ‘» 80% nn ts0.5 cms 88.1% ) 80% nn ts0.5 cms 88.0%
80% nn ts0.5 norm 91.6% S 80% nn ts0.5 norm 90.6% S 80% nn ts0.5 norm 91.8% S 80% nn ts0.5 norm 91.2%
0 4 i 80% nn ts1.0 cms 86.2% o] 80% nn ts1.0 cms 84.5% o 80% nn ts1.0 cms 86.3% o] 80% nn ts1.0 cms 84.4%
. 80% nn ts1.0 norm 87.5% > 80% nn ts1.0 norm 90.6% S 80% nn ts1.0 norm 87.9% -] 80% nn ts1.0 norm 91.1%
80% np ts0.5 cms 89.4% = 80% np ts0.5 cms 88.7% = 80% np ts0.5 cms 89.0% = 80% np ts0.5 cms 88.8%
80% np ts0.5 norm 91.6% 80% np ts0.5 norm 91.6% 80% np ts0.5 norm 91.4% 80% np ts0.5 norm 92.0%
80% np ts1.0 cms 89.4% 80% np ts1.0 cms 86.3% 80% np ts1.0 cms 88.2% 80% np ts1.0 cms 86.1%
80% np ts1.0 norm 89.6% 80% np ts1.0 norm 91.2% 80% np ts1.0 norm 89.4% 80% np ts1.0 norm 91.3%
—e— 90% nn ts0.5 cms 88.3% —e— 90% nn ts0.5 cms 88.4% —e— 90% nn ts0.5 cms 87.7% —e— 90% nn ts0.5 cms 88.1%
02 7 —o— 90% nn ts0.5 norm 91.6% —o— 90% nn ts0.5 norm 90.7% —eo— 90% nn ts0.5 norm 91.2% —o— 90% nn ts0.5 norm 91.5%
—r— 90% nn ts1.0 cms 86.3% —r— 90% nn ts1.0 cms 84.2% —r— 90% nn ts1.0 cms 86.1% —r— 90% nn ts1.0 cms 84.8%
—r— 90% nn ts1.0 norm 88.0% —— 90% nn ts1.0 norm 90.6% —— 90% nn ts1.0 norm 88.2% —— 90% nn ts1.0 norm 91.3%
-:0:: 90% np ts0.5 cms 89.8% -:@: 90% np ts0.5 cms 89.3% -:0:: 90% np ts0.5 cms 89.7% -+@:: 90% np ts0.5 cms 88.9%
<@+ 90% np ts0.5 norm 91.6% <+@+ 90% np ts0.5 norm 91.7% <@+ 90% np ts0.5 norm 91.6% <@+ 90% np ts0.5 norm 92.1%
==y+ 90% np ts1.0 cms 89.2% ==y+ 90% np ts1.0 cms 86.3% ==y+ 90% np ts1.0 cms 89.1% ==v+ 90% np ts1.0 cms 86.2%
00 7 ==y:+ 90% np ts1.0 norm 89.6% =:y:+ 90% np ts1.0 norm 91.4% ==y:+ 90% np ts1.0 norm 89.7% =:v:+ 90% np ts1.0 norm 91.7%
T T T T T T T T T T T T T T T T
False positive rate False positive rate False positive rate False positive rate
Matrix: g, Length thr: It3, Matrix: g, Length thr: It3, Matrix: g, Length thr: It3, Matrix: g, Length thr: It3,
Weighted: pairW, Intensity thr: itl Weighted: pairW, Intensity thr: it2 Weighted: unW, Intensity thr: itl Weighted: unW, Intensity thr: it2
1.0 -
0.8 A % cut gaps AUC % cut gaps AUC % cut gaps AUC % cut gaps AUC
70% nn ts0.5 cms 91.0% 70% nn ts0.5 cms 89.9% 70% nn ts0.5 cms 90.1% 70% nn ts0.5 cms 90.7%
70% nn ts0.5 norm 93.0% 70% nn ts0.5 norm 91.3% 70% nn ts0.5 norm 92.6% 70% nn ts0.5 norm 92.7%
70% nn ts1.0 cms 89.1% 70% nn ts1.0 cms 87.0% 70% nn ts1.0 cms 87.0% 70% nn ts1.0 cms 86.8%
70% nn ts1.0 norm 90.0% 8 70% nn ts1.0 norm 91.6% _8 70% nn ts1.0 norm 89.7% 8 70% nn ts1.0 norm 92.2%
0 6 | 70% np ts0.5 cms 89.0% E ] 70% np ts0.5 cms 89.5% E | 70% np ts0.5 cms 88.4% E ] 70% np ts0.5 cms 90.0%
. 70% np ts0.5 norm 91.8% 70% np ts0.5 norm 91.3% 70% np ts0.5 norm 90.8% 70% np ts0.5 norm 92.3%
70% np ts1.0 cms 88.8% G>J 70% np ts1.0 cms 87.4% g 70% np ts1.0 cms 88.4% C|>J 70% np ts1.0 cms 86.8%
70% np ts1.0 norm 89.2% ) 70% np ts1.0 norm 90.8% ) 70% np ts1.0 norm 87.8% ) 70% np ts1.0 norm 91.7%
80% nn ts0.5 cms 90.7% ) 80% nn ts0.5 cms 89.1% ‘© 80% nn ts0.5 cms 90.0% ) 80% nn ts0.5 cms 89.4%
80% nn ts0.5 norm 93.2% 8_ 80% nn ts0.5 norm 91.3% 8_ 80% nn ts0.5 norm 92.7% 8_ 80% nn ts0.5 norm 92.1%
0 4 i 80% nn ts1.0 cms 88.5% o 80% nn ts1.0 cms 86.5% o 80% nn ts1.0 cms 86.8% o 80% nn ts1.0 cms 86.1%
. 80% nn ts1.0 norm 89.9% > 80% nn ts1.0 norm 91.2% =} 80% nn ts1.0 norm 90.1% > 80% nn ts1.0 norm 91.9%
80% np ts0.5 cms 90.3% = 80% np ts0.5 cms 88.7% = 80% np ts0.5 cms 89.0% = 80% np ts0.5 cms 89.2%
80% np ts0.5 norm 92.2% 80% np ts0.5 norm 91.0% 80% np ts0.5 norm 91.7% 80% np ts0.5 norm 91.4%
80% np ts1.0 cms 89.1% 80% np ts1.0 cms 87.5% 80% np ts1.0 cms 87.9% 80% np ts1.0 cms 86.4%
80% np ts1.0 norm 89.1% 80% np ts1.0 norm 90.3% 80% np ts1.0 norm 88.0% 80% np ts1.0 norm 90.7%
—eo— 90% nn ts0.5 cms 91.2% —eo— 90% nn ts0.5 cms 89.4% —eo— 90% nn ts0.5 cms 90.9% —eo— 90% nn ts0.5 cms 89.6%
02 7 —e— 90% nn ts0.5 norm 93.0% —e— 90% nn ts0.5 norm 91.6% —e— 90% nn ts0.5 norm 92.6% —e— 90% nn ts0.5 norm 92.3%
—r— 90% nn ts1.0 cms 88.0% —r— 90% nn ts1.0 cms 87.1% —r— 90% nn ts1.0 cms 86.8% —r— 90% nn ts1.0 cms 86.5%
—— 90% nn ts1.0 norm 90.3% —— 90% nn ts1.0 norm 91.2% —+— 90% nn ts1.0 norm 90.3% —— 90% nn ts1.0 norm 92.2%
--@-+ 90% np ts0.5 cms 89.3% --@+ 90% np ts0.5 cms 89.1% --@-+ 90% np ts0.5 cms 90.1% --@-+ 90% np ts0.5 cms 89.0%
-0+ 90% np ts0.5 norm 92.4% -:@: 90% np ts0.5 norm 90.8% + 90% np ts0.5 norm 92.1% -:0:: 90% np ts0.5 norm 91.1%
v+ 90% np ts1.0 cms 89.2% =*y+ 90% np ts1.0 cms 87.5% v+ 90% np ts1.0 cms 87.4% =:y+ 90% np ts1.0 cms 87.0%
00 T ==+ 90% np ts1.0 norm 88.5% ==v+ 90% np ts1.0 norm 90.4% ==y+ 90% np ts1.0 norm 88.5% ==v+ 90% np ts1.0 norm 91.1%

0.6 0.8 1.0
False positive rate

0.6 0.8 1.0
False positive rate

0.6 0.8 1.0
False positive rate

0.6 0.8 1.0
False positive rate




